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2 |FBR FRE 38| 38 76 17.6 58. 4 52 |[Z&KX A 43 38 81 12.0 69.0 102 | & 44 44 88 16.0 72.0
3 |B1EE —HB 43 | 50 93 34.3 58.7 53 |&@H #th 40 | 40 80 10. 8 69. 2 103 [Feiml & 45 44 89 17.0 12.0
4 |RE BE 45 | 44 89 29.4 59.6 54 [EH EX 45 | 37 82 12.7 69. 3 104 [Py £3) 46 43 89 17.0 72.0
5 |1 48 | 48 96 34.3 61.7 55 |t HR—ER 39 | 44 83 13.7 69. 3 105 [FK #2480 48 46 94 22.0 12.0
6 [im 1EE 44 | 38 82 19.6 62. 4 56 =i & 49 | 39 88 18.6 69. 4 106 |12 FE 50 48 98 26.0 72.0
1 2% fEE 41 45 86 23.5 62.5 57 |I\K Ez2 44 | 44 88 18.6 69. 4 107 |#xK FiR b1 50 101 29.0 12.0
8 [FH #x 45 | 46 91 28. 4 62.6 58 [FEE RO 47 | 43 90 20.6 69. 4 108 (@ HBX 39 | 42 81 8.8 12.2
9 |&lL #Mz 41 34 75 11.8 63. 2 59 |FBK =E 50 | 48 98 28. 4 69. 6 109 (&5 SE& 39 | 43 82 9.8 12.2
10 |2 &R 40 | 42 82 18. 6 63. 4 60 |5+ Ip 35 39 74 4.0 70.0 110 |%ighkdl  IEfd 40 | 47 87 14.8 12.2
11 |EN 39 37 76 12.0 64.0 61 |RIR RKER 39 38 71 1.0 70.0 111 [ge+  #4—ER 41 4] 88 15.7 12.3
12 (2@ Fi 41 41 82 18.0 64.0 62 |BEAR FE= 39 41 80 10.0 70.0 112 |fB4&F & 43 | 46 89 16.7 72.3
13 [hEE  JEF 50 42 92 21.0 65.0 63 [WtH =8 41 41 82 12.0 70.0 113 |FE&E A0 44 | 45 89 16.7 12.3
14 (luF%Fx ERK 34 1 41 75 9.8 65. 2 64 |8RE FH— 43 40 83 13.0 70.0 114 &% EiE 48 | 43 91 18.6 712.4
15 |JE#  FF0 42 | 35 11 11.8 65.2 65 |ATEH #X 46 44 90 20.0 70.0 115 M A& 48 | 44 92 19.6 12.4
16 | Kix &&= 40 | 38 78 12.7 65.3 66 [Tk 1= 43 49 92 22.0 70.0 116 (Y& &E1T 50 | 43 93 20.6 712.4
17 50 &2 44 | 43 87 21.6 65. 4 67 |=% B2 4] 46 93 23.0 70.0 17 |2 ERKE 49 [ 48 97 24.5 12.5
18 |BEM FE 44 | 47 91 25.5 65.5 68 [XF 1TE 90 46 96 26.0 70.0 118 [BlF BX 48 | 50 98 25.5 12.5
19 [ B& 49 | 47 96 30.4 65.6 69 | K+t IEA 38 | 41 79 8.8 70.2 119 B X 48 | 51 99 26.5 12.5
20 [/hgx  1£HH 40 40 80 14.0 66.0 10 |38 STl 40 [ 42 82 11.8 70. 2 120 g k3= 53 | 55 108 35. 3 12.7
21 (g IEFN 43 41 84 18.0 66.0 AR B 43 | 39 82 11.8 70.2 121 (% =3 45 | 45 90 17.2 712.8
22 | E@A i 42 44 86 20.0 66.0 2 |=®H# —F 43 | 39 82 11.8 70.2 122 [EK R= 42 39 81 8.0 73.0
23 |/h#k BHZE 4] 49 96 30.0 66.0 13 |JEH {B—ER 43 [ M 84 13.7 70.3 123 |fE@ mE# 41 44 85 12.0 73.0
24 |h#f AR 371 40 71 10.8 66. 2 14 (M BEA 46 | 44 90 19.6 70. 4 124 (##@A EZ 48 44 92 19.0 73.0
25 (i —iE 39 | 39 78 11.8 66. 2 15 |#EFT BRER 45 | 45 90 19.6 70. 4 125 |AH & 50 43 93 20.0 73.0
26 | E— 44 | 43 87 20.6 66. 4 16 (B F 49 | 46 95 24.5 70.5 126 [ =RF 48 47 95 22.0 73.0
27 | BWE 41 40 81 14.0 67.0 17 &0 NEF b2 | 43 95 24.3 70.7 127 |Ihe2 &= 47 50 97 24.0 73.0
28 &R AR 45 44 89 22.0 67.0 78 |IUE [EsA 42 46 88 17.0 71.0 128 (1% BB 54 55 109 36.0 73.0
29 |#H) K#k 44 46 90 23.0 67.0 19 [H¥F & 45 45 90 19.0 71.0 129 [Mk Z 42 | 40 82 8.8 13.2
30 [F¥e {E—ER 44 47 91 24.0 67.0 80 |IUE FHwRE 45 45 90 19.0 71.0 130 |5&i2  Z4 43 | 39 82 8.8 73.2
31 [#a@ #F— 38 | 36 74 6.9 67.1 81 [y 38 | 38 76 4.9 7.1 131 (2 F ERX 42 [ 4 83 9.8 13.2
32 [KEH R 39 36 75 7.8 67.2 82 [#*O &HA 40 [ M 81 9.8 7.2 132 |£E [ 43 [ M 84 10. 8 73.2
33 |MHF RE 42 | 37 79 11.8 67.2 83 | KR+t IEMRE 42 | 39 81 9.8 71.2 133 (&I FiiA 44 | 43 87 13.7 73.3
34 |F =i 40 | 40 80 12.7 67.3 84 |FE)II BERX 43 | 39 82 10.8 7.2 134 (TR BRE 48 | 39 87 13.7 73.3
3B |BEM ZIE 43 | 37 80 12.7 67.3 85 | K& FEIZ 40 | 43 83 11.8 71.2 135 |&2H & 44 | 43 87 13.7 73.3
36 et Fos= 41 40 81 13.7 67.3 86 |[IaK RX 44 | 43 87 15.7 71.3 136 [e&% % 45 | 45 90 16.7 73.3
37 k& EZ 41 41 82 14.7 67.3 87 | EFE 43 | 45 88 16.7 71.3 137 2% 1—FE 48 | 45 93 19.6 713.4
38 |t FIpE 4 1 M 85| 17.6 | 67.4 88 |&H =#t 43 | 45 88 | 16.7 | 71.3 | 138 |#giT FiExk 44 | 50 94| 20.6 [ 73.4
39 |FE & 46 | 45 91 23.5 67.5 89 | BB 11X 44 | 45 89 17.6 71.4 139 |BR1 ZE2 46 | 48 94 20.6 713.4
40 |Ig +|X 44 45 89 [ 21.0 [ 68.0 90 |FEIR  FetE 48 | 41 89 | 17.6 | 71.4 | 140 /Z@ ==E 50 | 48 98 | 24.5| 73.5
M |\maF F= 44 45 89 21.0 68.0 o1 |55 FHit 48 | 42 90 18.6 71.4 141 (IR B b5 | 54 109 35.3 13.7
42 |tk R 39 | 37 76 7.8 68.2 92 |##@A = 45 | 46 01 | 19.6 | 71.4 | 142 [/Mék =X M 43 84| 10.0 | 74.0
43 |hH BXH 39 | 38 71 8.8 68. 2 93 |dt&t A 46 | 45 91 19.6 71.4 143 (B74F R 45 43 88 14.0 74.0
44 1588 EF 41| 40 81| 12.7| 68.3 9 BB/ #B1T 48 | 46 94 | 22.5 | 71.5 | 144 ()l 47HE 46 42 88| 14.0( 74.0
45 |H¥F FE 43 | M 84 15.7 68. 3 95 [FEE AT 46 | 49 95 23.5 71.5 145 (K& B 47 42 89 15.0 74.0
46 (2K #F5h 43 | 46 89 | 20.6 | 68.4 96 [{£E& 0O fEF 44 | 52 96 | 24.5 | 71.5( 146 [;2 E% 49 43 92 | 18.0( 74.0
47 |HHE k& 45 51 96 27.4 68.6 97 |Bxk #W— 48 | 50 98 26.5 71.5 147 (A & 49 48 97 23.0 74.0
48 |IRFH KEj 49 | 48 97 | 28.4| 68.6 98 [YEH EEF= 51 | 51 102 [ 30.4 | 71.6 | 148 |MA 71=2F 49 48 97 | 23.0( 74.0
49 |HH B 40 37 71 8.0 69.0 9 [FM mMEF 50 | 53 103 31.4 71.6 149 (E88 E— 50 48 98 24.0 74.0
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151 |HEB ®Hii 39 42 81 6.9 14.1 201 |E% R 45 44 89 12.0 11.0 251 [} BKF 4] b1 98 14.7 83.3
152 |#&#E XX 42 | 4 83 8.8 14.2 202 |R& fE= 46 44 90 13.0 77.0 252 |JIFE FF 50 51 101 17.6 83.4
153 [T HE 46 | 40 86 11.8 14.2 203 (iR =E 46 48 94 17.0 11.0 253 |JEM 1B 62 57 119 35.2 83.8
154 |aik FE 45 41 86 11.8 14.2 204 |FH E&E 51 45 96 19.0 77.0 254 |;BEK EA 57 52 109 24.0 85.0
155 (&2 ®i8 44 1 42 86 11.8 14.2 205 (X FHig 4] 50 97 20.0 11.0 255 [HtE == b1 iy 98 12.7 85.3
156 k& Bk 42 | 46 88 13.7 74.3 206 |l EFE 49 50 99 22.0 77.0 256 |ZfE 1EHH 50 50 100 14.0 86.0
157 [BEH #£X 43 | 47 90 15.7 74.3 207 % Z7) 42 41 83 5.9 171 257 |&f FA 50 52 102 16.0 86.0
158 [freh  EEGA 48 | 43 91 16.7 74.3 208 |hFt TEF 45 46 91 13.7 71.3 258 |& E{E 54 | 50 104 12.7 91.3
159 |BZFE EFFH 49 | 45 94 19.6 14. 4 209 [/h&E —iA 44 | 48 92 14.7 11.3 259 |Er#t (& 66 65 131 36.0 95.0
160 [/\H %0/ 48 | 46 94 19. 6 14. 4 210 | KT {82 47 45 92 14.7 77.3 260 |HiE E 67 69 136 36.0 | 100.0
161 (2T =7 48 39 87 12.5 714.5 211 |)m & 48 | 45 93 15.7 11.3
162 |2 =Rz 47 52 99 24.5 74.5 212 |&#@ # 43 50 93 15.7 77.3
163 (4 &E— 55 44 99 24.3 14.7 213 |&H AN 47 47 94 16.7 11.3
164 (MEFH RS 58 52 110 35.3 14.7 214 |1F # 51 49 100 22.5 77.5
165 (4 WFF 55 b5 110 35.3 14.7 215 [F  #etEse 08 52 110 32.4 11.6
166 |FE4T F05% 43 41 84 9.0 75.0 216 (@A =& 53 51 104 26.0 78.0
167 |5 #X 44 44 88 13.0 75.0 217 (AR R 46 | 46 92 13.7 78.3
168 |BR:I #F 49 44 93 18.0 75.0 218 |1BEN i 46 46 92 13.7 78.3
169 |£& SEER 52 44 96 21.0 75.0 219 |BE EH 45 48 93 14.7 78.3
170 & B 40 [ 41 81 5.9 75. 1 220 |#& X F] 48 46 94 15.6 78. 4
171 | K& &Rz 42 | 42 84 8.8 75.2 221 (T MF 50 | 52 102 23.5 18.5
172 |B8L B% 45 | 41 86 10. 8 75.2 222 (B =2 41 48 89 10.0 79.0
173 &)l BiA 44 | 44 88 12.7 75.3 223 |[FB % 49 43 92 13.0 79.0
174 [+ BZ 47 42 89 13.7 75.3 224 iR EfE 51 42 93 14.0 79.0
175 %A 8k 45 44 89 13.7 75.3 225 |=IBF  fEF 54 47 101 22.0 79.0
176 [/hNE —F 43 46 89 13.7 75.3 226 (Fl EF 57 57 114 35.0 79.0
177 (B =8 46 | 45 91 15.7 75.3 227 |miE EHH 60 b5 115 36.0 79.0
178 | B &HF 44 | 48 92 16. 7 75.3 228 |K¥ FR 45 41 86 6.9 79.1
179 |B&F 12K 50 | 46 96 20.7 75.3 229 |/MEB  m— 43 b5 98 18.6 79.4
180 | FIE 45 | 51 96 | 20.6 [ 75.4 | 230 |Zzk f@# 53 | 48 101 21.6 | 79.4
181 |FRéE &EHE 48 48 96 20.4 75.6 231 (B B 60 | 5T 111 31.4 79.6
182 [RiE =& 53 50 103 27.4 75.6 232 (IEHT & 46 49 95 15.0 80.0
183 | =i 51 49 100 24.3 715.7 233 |FfTH BE 48 50 98 18.0 80.0
184 (5 EX 58 53 111 35.3 75.7 234 (falL  EBF 52 46 98 18.0 80.0
185 Wiz FEB 53 | 46 99 23. 1 75.9 235 (T BUE 46 | 43 89 8.8 80.2
186 =& BB 45 41 86 10.0 76.0 236 Bt H&=E 44 | 47 91 10.8 80.2
187 |Fa;R  HZAH| 46 43 89 13.0 76.0 237 (i &= 50 | 46 96 15.7 80.3
188 |80 EJBER 46 | 46 92 | 16.0 | 76.0 | 238 |KF & 48 | 54 102 | 21.6 | 80.4
189 |BAK ZE iy 46 93 17.0 76.0 239 |fEE IEF 59 46 105 24.5 80.5
190 |BEIT PE— 48 47 95| 19.0 [ 76.0( 240 |luiF E=z 55 52 107 | 26.4 | 80.6
191 (#rF ERAI 49 40 89 12.7 76.3 241 |5 = 49 | 43 92 10.8 81.2
192 |II&E g 52 | 40 92 | 15.7 | 76.3 | 242 |94z #k 51 | 45 96 | 14.7 | 81.3
193 (f0BA —i& 46 | 46 92 15.7 76.3 243 |R5F 53 52 105 23.5 81.5
194 |HE B 48 | 48 96 | 19.6 | 76.4 || 244 |mgE EBE= 45 49 94| 12.0 | 82.0
195 (figtE gk 49 49 98 21.6 76. 4 245 (Ihy HE 49 53 102 20.0 82.0
196 |#2H E— 51 | 47 98 | 21.6 | 76.4 | 246 |B%f FEER 51 | 52 103 | 20.6 | 82.4
197 (BB #BF 49 51 100 23.5 76.5 247 | H = 49 57 106 23.5 82.5
198 | KT EF 49 [ 51 100 [ 23.5 | 76.5 | 248 |#BX im 58 | 50 108 | 25.5| 82.5
199 [BEM JHE 55 53 108 31.4 76.6 249 (Il & 51 45 96 12.7 83.3
200 |He FIFE 42 46 88 1 11.0 [ 77.0 | 250 |K#t &= 47 | 49 96 | 12.7 [ 83.3
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